INE TR R RE R
SERZRRAERE (LHARKKR) ARGR

T (2:50)

INUR UL T B3 ETRT

BALESR 4,568.465

HERTE 18,779.393

AF—T DA 221.000

HEREE 766.000

NS 7,543.298

EREX% 3,823.345

SERAERLHBEEDOLT |Bxtros 4,460.000
EEEEE 252.000

YEREE 10,304.041

HHORBEDE T HEE S 115.000

NHKA S EREF5%E 1,324.000

REFHELEZDE 392.000

_ nvhhEs 1,950.446
PYETON-ENIREHN 0.012
mRES 1,387.000
FHIEY . £ DM 2.000
B 55,886.000
BEER 55,888.000

LERDILSERLBEHBRELSLIVRABEREOGER
N3F BEHEE

AAfER 4,205.000

HBRER 14,549.000

AU—T ok 185.000

HEREH 683.000

AR 6,964.000

ERRER® 2,280.000

BAMHOS 4,114.000

E=BERE 189.000

TERER 9,132.000

FBOMBEDE T HBES 80.000

NHKA\SERESF 5% 1,147.000

REFHELEADS 341.000

hUvhEnEs 1,115.000

BAEE N % 112.000
BAKESR T KL= 45.396
HARKER i BF 19.000
BAKESR FE =L 109.018
BAKESR 2t ZF5A0 2.000
BAKESR B SZC 8.000
BAKESR LWME hFpE 4.000
HARKER FW T 3.000
BAKESR AR 5UA 3.000
BAKESR R EH 2.000
BAKESR FiE UbF 4.000
HARKER R Ex 3.000
HARKER b S c 0.000
HARKER INAR RIE 4.000
BAKESR kg BbUA 2.003
HARKER B Bt 2.000
BAXESR TR =% 0.000
BAKESR FEF B 0.000
BAKESR Hil f#— 0.000




HAKER
Eiifé% AL B
: EER [’ ¥ 306
AHER e .
HAKER = -
/\&‘bgs EE
o “ = 2.000
HAKER i 32 .
BEHEER = :ch? :
e : e 2.003
= it FEH
e o2 l\% 25.045
Hi Tooc 229.923
= AH FIO
Hi L 102.000
= 2RI F2EH
B m 2 145.000
Hi _ h;ug)g 19.076
= AED HY
B = \L\B 52.981
B ZB#-BL:/UD 28.000
B ﬁ\(_f— 2= 98.000
Hi . 102.000
= Jdbdr &BX
B 23 ; 36.000
B £ = 132.000
B s 3{?L 39.000
B 28 e 34.000
B o s 52.211
Hi o= 427.741
= He F=L
B T 161.000
B o1 Ej{ 81.257
B T ;r; 411.000
B :EE e 78.000
Hi U\ﬁﬂﬂ\f:b\b 169.000
EEEEI% i L 79.000
B £ 22 119.000
B ul ilslm 82.000
B o gbt 41.000
B Ez:( —5&:3\ 15.000
B L Li@jt 32.000
B = e 24.000
B e e 16.000
B i ;L;EB 204.431
1] L 5h 52.568
L - 113.205
o= 2l oV
rE = 254.000
== XA BEA
= 12.000
ox INI FESR
HERER = = -
HERER o 7% -
HERER Eﬁ w5 :
HERER ﬁ% o—%fs E
+ i 2 12.000
2 %*I]\, 2= 22.000
- :F; b:#gu-f 22.000
< i R 155.000
< 2 s 33.000
< s o 165.000
< s Uib 69.125
< iEEEo) o5 95.173
< Em; e 4.000
< ﬁl:; = 2.000
< e E 6.000
< : E_EB 4.000
EIE% 7 2.000
T 3.000
0.000




N mE EA 3.000
N AR EIG 4.000
N PR Bk 2.000
NGl =R Eit 9.000
ERRX® Ak LB 194.000
ERRX® WZSE B 577.000
ERRX® KE MR 54.000
ERREX® INLUA DhF 5.000
ERREX® BH Ua—Ry 6.000
ERREX® #HR B 5.000
ERREX® Hef DS 234.742
ERREX® Hft FH 238.000
ERRX® iR 2 0.000
ERERX® EF KLASH 178.000
ERERX® VO BHC 9.000
ERREX® Il 1=+ 4.000
ERREX® A kYF 19.000
ERREX® WT k52 19.603
HAEFDS AL FHE 62.000
BA#FOR BE e 27.000
HAEFDS o MgpE 16.000
BA#MFOR #HR RE 92.000
BA#FOR B &L 10.000
BA#FOR LIE= 15 13.000
BA#FOR TR HLNVE 10.000
BA#FOR HoE K 2.000
HAREFDS LWhis EX8F 2.000
BA#FOR BHE FY 70.000
HAREFDS L2 AF 17.000
BA#FOR <hlEnb <A 8.000
BA#FOR #0O HH 9.000
HAREFDS PEAE #BX 8.000
FEREERRT R VES5C 48.000
FEREERRT we vAsnY 4.000
FEREERRT R =X 11.000
AERER Al K& 104.000
AERER mH HERE 78.000
AERER SR FH 21.000
AERER B FIkL 35.000
UERER IR FSDE 82.000
AERER HLEY <o 34.000
AERER BFE- —F 8.000
AERER JIIE EEF 76.000
AERER B FEC 76.000
AERER FBE UZ 26.000
AERER k% HEY 21.041
AERER LEH BR 0.000
UERER HiR #F 15.000
AERER Bk TR 109.000
AERER b PpES 7.000
UERER EE BB 1.000
AERER ALf= EFEA 13.000
AERER TN &L 36.000
UERER HTHHh B— 113.000
UERER HU5 =HL 174.000
AERER )l EBY 126.000
AERER =i EHT 17.000
FEDEREDS T FHEHER ® OAKL 29.000
FEDEREDS T FHEHER i BE 1.000




FEDEREDS T FHEHER B 5.000
NHKMNSEREFH R e EE 162.000
NHKMLEREFH R EMA BB 7.000
NHKOWSEREFSR A A1 2.000
NHKMNLEREFH R REFdL BFEA 6.000
REFGHEEZEZDE &5 Fk 51.000
nvhEnER AR KER 795.446
nvhEnEMR IXF T & 10.000
nvhEnEMR PFEH 9.000
nvhoEnER =H# KLAH 1.000
nvhEnEMR T8 505 4.000
nvhEnER K DhzE 15.000
N vhinER B THF 1.000
BEMICHBALLBIRZBEHEDKA
EEIEESD =K &85 8.000
BEHREX®R =@ I 2.000
FEDEREDS T FHEHER FiE BAF 6.000
nvhoFnER AEE HPIFUC 3.000
N vhinER A EKF 2.000




